


1 10 7422832 2 ROULETTE DE MANUTENTION 
1 20 7113142 2 AXE DE ROULETTE 
1 30 4098142 2 PIED REGLABLE 
1 40 7424334 1 BOITIER VENTILATEUR 
1 50 7424340 1 PLAQUE POUR BOITIER VENTILATEUR 
1 60 6118060 1 VENTILATEUR COMPACT 
1 70 7266079 2 SILENTBLOC VENTILATEUR 
1 80 4098112 2 VIS 3,5 X 29 
1 85 9590088 1 KIT SONDE 9590088 + CONNECTEURS 
1 140 7431414 1 BANDEAU FACADE INOX 
1 142 7427262 1 TOUCHE VENTILATEUR 
1 144 7427258 1 TOUCHE 
1 146 7427328 1 MANETTE THERMOSTAT 
1 150 7734526 1 BANDEAU AFF. KS 
1 160 7427138 1 SUPPORT 
1 170 6133696 1 PLATINE ELECTRONIQUE 
1 180 4098029 2 VIS PLASTIQUE 4 X 19 
1 205 9590717X 1 ENSEMBLE CHARNIERE DE PORTE 
1 210 4084013 2 SACHET DE 10 VIS M 5 X 15 
1 212 4098236 2 VIS FDS M4X16-BS SW7 A3 
1 215 9040016 1 FIXATION 
1 217 4084013 1 SACHET DE 10 VIS M 5 X 15 
1 219 7427184 1 CAPOT 
1 220 7427188 1 CAPOT 
1 225 7427416 1 BANDEAU GRIS ARRIERE 
1 230 5940480 1 EVAPORATEUR 
1 232 7422722 1 GOUTTIERE DE DEGIVRAGE 
1 234 7640590 2 GRILLE PROFIL DE RECOUVREMENT 
1 235 7424262 2 BOUCHON SUPPORT EVAPORATEUR 
1 236 7422032 6 SUPPORT EVAPORATEUR 
1 240 7402724 1 CACHE EVAPORATEUR KT KG/KGK 
1 250 7266081 1 SILEMBLOC CONDENSEUR 
1 260 7266134 1 SILENTBLOC 
1 270 9801576 1 BOITIER 
1 280 6072030 1 DOUILLE D'ECLAIRAGE E14 
1 290 9721001 1 REFLECTEUR ECLAIRAGE 
1 300 6070024 1 AMPOULE 220V 25W E14 
1 310 4098112 2 VIS 3,5 X 29 
1 320 7426396 1 CAPOT ECLAIRAGE 
1 325 6342017 1 CONDENSATEUR MKB MP2,5 400V 2,5MF 
1 330 EMY32CLC 1 KIT COMPRESSEUR EMBRACO EMY32CLC+BAC 
1 340 6941795 1 KLIXON DE SECURITE 
1 350 6940650 1 DISPOSITIF DE DEMARRAGE PTC BP 
1 352 7700156 1 TUBE DE DEGIVRAGE 
1 355 7426426 1 BAC EVAPORATION 
1 360 6009906 1 CABLE H 05 VV-F 3 X 0,75 2600MM 
1 370 7266120 4 SILENTBLOC CAOUTCHOUC ASPERA 
1 380 7422236 2 AXE DE FIXATION COMPRESSEUR 
1 390 7422234 2 SUPPORT DE FIXATION COMPRESSEUR 
1 400 7700001 1 NON FOURNI 
1 410 5941392 1 CONDENSEUR 
1 420 ATA100ZE38 1 DESHYDRATEUR 5/8" 10 GR. XH7-I 
1 430 4098124 6 VIS FDS M3.5X12 FA. 
1 440 7266036 2 RONDELLE 
1 460 7272264 6 TABLETTE VERRE ( FIL 7112110 ) 



1 470 7430094 6 CADRE DE MAINTIEN P. TAB. VERRE 
1 480 7640644 6 PROFIL D'ENJOLIVEUR 
1 490 7272270 1 TABLETTE VERRE 515 X 175 
1 500 7640644 1 PROFIL D'ENJOLIVEUR 
1 520 7272268 1 TABLETTE VERRE - COMPLETE 
1 530 7430094 1 CADRE DE MAINTIEN P. TAB. VERRE 
1 590 7272292 1 TABLETTE VERRE - COMPLETE 
1 600 7640644 1 PROFIL D'ENJOLIVEUR 
1 640 7112422 1 CLAYETTE BOUTEILLES 
1 650 9290036 4 BAC A LEGUMES G.M. 
1 660 7113006 1 AXE DE CHARNIERE 
1 680 9013190 1 PORTE COMPLETE 
1 682 7427244 1 CAPOT SUPERIEUR 
1 685 9086672 1 KIT ACCESSOIRES TU 
1 690 7108668 1 JOINT DE PORTE GRIS 
1 695 9086536 1 SACHET VIS 50 ST. ( E P U I S E ). 
1 700 9590617 2 KIT ACCESSOIRES 
1 705 7427745 1 DOUILLE FERMETURE DE PORTE DROITE 
1 710 7272334 6 TABLETTE VERRE - COMPLETE 
1 720 7430200 1 FIXATION 
1 725 7430202 1 FIXATION 
1 727 7112376 1 ETRIER INFERIEUR 
1 730 9101012 1 COUVERCLE RAB. COMP. BEURRE 
1 750 7112222 1 ETRIER INFERIEUR 
1 760 7430204 1 FIXATION 
1 765 7430206 1 FIXATION 
1 785 7640648 6 PROFIL D'ENJOLIVEUR 
1 800 7430208 2 FIXATION 
1 810 7430210 2 FIXATION 
1 820 7112218 2 ETRIER INTERM. BALCONNET CONSERVES 
1 825 7112222 2 ETRIER INFERIEUR 
1 830 7426198 2 SEPARATEUR CONSERVES 
1 840 7430208 2 FIXATION 
1 850 7430210 2 FIXATION 
1 860 7112216 2 ETRIER INTERM. BALCONNET BOUTEILLES 
1 865 7112214 2 ETRIER SUP BALCONNET BOUTEILLES 
1 870 7426202 2 SEPARATEUR BOUTEILLES 
1 900 7042616 1 CHARNIERE INFERIEURE SOFTLINE 
1 910 7113138 1 AXE DE CHARNIERE INFERIEURE 
1 920 7427714 2 BANDEAU 
1 930 4084011 1 VIS M 5 X 20 
1 940 7424615 1 BOUCHON GRIS KGN..,KGT.. 
1 950 7427648 1 SUPPORT MAGNETIQUE GRIS 
1 960 9733016 1 PLINTHE 
1 970 7427778 1 CACHE POUR PLINTHE 
1 980 7424711 1 BAC A OEUFS (10 OEUFS) 
1 990 9103044 1 BEURRIER 
1 1000 7428752 1 POIGNEE LONGUEUR 75CM 
1 1001 9590124 1 KIT DE REPARATION POUR POIGNEE R6 
1 1005 7426630 2 ENJOLIVEUR POIGNEE 
1 1010 4098184 4 SACHET DE 10 VIS M4X11,5 T15 A3K 
1 1040 7402612 4 BOUCHONS GRIS 
1 1050 9292004 1 CLEF 
1 9910 7082218 1 MODE D'EMPLOI 
1 9915 7082718 1 MODE D'EMPLOI mise en service K KPes 
1 9917 6111062 1 THERMOMETRE DECRET FROID NM 



1 9940 7427743 1 DOUILLE FERMETURE DE PORTE GAUCHE 
1 9950 9878692 1 EMBALLAGE GS 318. "SOFTL. KD 
1 9960 8041344 1 EMBALLAGE 
1 9980 8409028 1 PRODUIT NEOBLANK 50ML FLASCH. 






